COPYRIGHT RESERVED

Examination : 2024 Subject Code : BCA(I)-14/24
Session :2022-25 Paper : XTIV
Time : 3 hrs. FullMarks :80

Candidates are required to give their answers in their
own words as far as pfacticable.
The figures in the margin indicate full marks.
Answer from all groups as directed.
Group-A
(Objective Type Questions)
(Compulsory)
1. Choose the correct answer of the following: 2x10=20
(a) TheFull form of DDL is
_ & DataDefinition Language
() Data Data Language
(iii) Delta Definition Language
(iv) Data Dictionary Language
(b) Which normalization form is based on the transitive

dependency?
(i) INF
(i) 2NF
i) 3NF
(iv) BCNF
é P.T.0.
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() Which is the lowest level of abstraction that describes how
the data are actually stored?
@ Physical
(i) Abstract
(i) View
(iv) User
(d) Which of the following is a command of DML?

/@"/update

(ii) create
(i) drop
(iv) alter
‘ (e) RectanglesinER diagram represents
@) Tables
@) Attributes
(i) Tuples

Ju}»Entity sets

(ﬂ Which of the following allows to uniquely identify a tuple?
(i) Schema

)@,S—Uppbr Key
(iif) Adtribute
(iv) Domain

(2) How many levels are there in architecture of database?
) 2

) 3 <
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(iii) 4
(iv) 5
(h) Primary key can be
(i) NULL
iD-NOT NULL
- (i) Both (i) & (ii)
(iv) None
() To select some particular columns, which of the following
command is used?
/ﬁ)/Proj ection
(i) Selection
(i) Join
(iv) Union
(j) Whatisa table joined withitself called?
' Join
(i) Join
(i) EquiJoin
(iv) Outer Join
Group-B
Long-Answer Type Questions
Answer any four questions of the followihg: 15x4=60
2. Whatis aDatabase Management System and how is it different
from a File System? List some applications of DBMS.

BCA(D-14/24 3 P.T.O.
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3. Explain following terms with suitable example:
(i) Relational Algebra
(i) Strong Entity Set
(iii) Data Dictionary
4. What is transaction? Explain the ACID Properties of

actions.
j./(\];rhj is Normalization required? Explain different normalization
. techniques. | _
\6/ Construct an ER-Diagram for a Hospital by taking suitable
entities.
7. Describe different types of keys in the database. Explain each
of them in details.

- 8. /Write short notes on any three of the following

(d) Database Recovery
(e) Tuple Calculus

y/ﬁataModel
*k ok
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Examination : 2024 Subject Code : BCA(II)-13/24
Session :2022-25 Paper : X1II

Time - :3hrs. Full-Marks : 80

Candidates are required to give their answers in their
own words as far as practicable.
The figures in the margin indicate full marks.
Answer from all groups as directed.
Group-A
(Objective Type Questions)
| (Compuisory)
1. Choosg the correct answer of the following;: 2x10=20

(a) Whichtopology covers security, robust and eliminating traffic

(iv) Bus
(b) Combination of two or more networks in called
@ WAN |
@@ MAN
@LAN
JM{\?NTERNET WORK

P.T.O.
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(c) Whatkind of transmission medium is most appropriate to
cary data in a computer network that is exposed to electrical
interferences?

() Unshielded twisted pair
_}ji)/Optical fiber

(i) Coaxial cable

(iv) Microwave -

(d) The location of a resource on the internet is given by

its

| mocol
(i) E-mail address
() ICQ

(© FTP for
(@) “File transfer protocol

(i) File_transnﬁssion protocol
(i) Form transfc%protocol
(iv) Form transmission protocol
........... layer change bits onto electromagnetic signals.
(1), Physical |
() Transport
() DataLink
(iv) Presentation
() Whatis the commonly used unit for measuring the speed of
data transmission?
BCA(IT)-13/24 2
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(i) Bytes persecond
(i) Baud

(i) Bits per second
(iv) Both (it) and (iii)

(h) Which of the transport layer protocolsis connec&onless‘7

P
@ FTP
@) TCP
(iv) Nvt

@ The...iion layer is responsible for resolving access to

the shared media or resources.

@ Physical
@/lézksub layer
(i) Network

(iv) Transport

G) The BRI + _is used to provide integrity check,
authentication and encryption to IP datagram.

@ SSL
- MSP
(i) TSL
@iv) PSL
. Group—B
| Long—AnswerType Questmns

<

Answer any four questions of the following:
5. Write a short description of the different types of Transmission "

s @

15x4=60

modes, with their advantages/disadvantages. -

BCA(IN)-13/24 3
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ifferentiate between OSI and TCP/IP reference model in detail.

4. Discuss various Error detection and Correction techniques in

detail.

5 _4ind CRC for the data polynomial - x5 4 x* + x? 41 with
generator polynomial x3 41.

6. Explain Circuit switching, Packet switching and Message
switching, Writer their advantages and disadvantages also.

‘yDeﬁne IP Address. Specify IPv4 address classes with their

address ranges.

8. Explain in detail the following CSMA protocols:
(a) I-persistent
(b) Non-persistent
(c) P-persistent

9. Whatis Transport layer? Explain the protocol and services of

~ transport layer.
}/W;ite short notes on any three of the following:

}’i{()uters voe
(b) Switches -

(c) Simplexand HalfDuplex Channels
(d) Congestion Control

Xk
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Examination : 2024 Subject Code : BCA(II)-9/24
Session :2022-25 Paper 11X
" Time : 3 hrs. Full Marks  : 80

Candidates are required to give their answers in their
own words as far as practicable.
" The figures in the margin indicate full marks,
Answer from all groups as directed.
Group-A
(Objective Type Questions)
- (Compulsory)
1. Choose the correct answer of the following: - 2x10=20
(@ C++isa type of Language.
/ﬁj/ngh_ Level Languag
() Low-Level Language
(i) Middle-Level Language
(iv) None of the above |
(b) Which one of the following represents the tab?
® In
Nogd
(i) Ir
(iv) None of the above s
- (¢) Which one of the following cannot be a friend in C++

language.
(i) AClass
: P.1.0.
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() :\l"unclion
(iil) An object
) (iv) None of the above
(d) Which of the following user-define header file
extension is used in C++?
(0 he
(i) cpp
iy
(iv) hf |
() Which ofthe following is "address of operator"?

Q) *
(i) []
(v) &&

(f) Identify the scope resolution operator

a

(iii) ?

(iv) None
(2) Whichofthe following is mandatory in a function?

(i) return-type

(i) parameter

(iif) function-name

) Both (i) and (iii)

BCA(II)-9/24
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() Tdentify the size ol int datatype in CH-+
(i) 1 byte
(i) 2 bytes
(i) l;ylvs >
(iv) Depends oncompiler
(1) Totaltypes oferrorin ¢+
@ 1
(i) 2
(i) 3
(iv) 4
() Whatis anobject in C++?
(1) Itisafunctionof'class
(@) Iisinforce of class
/__(iii)"il is a datatype of class
i (iv) Itisa part of the syntax of class
Group-B
Long-answer Type Questions
Answer any four questions of'the following:  15x4=60
> -\'y\\’hut are class and object in C++? Explain,
3., Whatis function? What do you mean by Call by value and Call
by reference in C+-+? | |
-\:Vl?xplain the constructor and destructors in C++,
5. What s function overloading? What is the difference between
function overloading and operator overloading?
| ’_(}/W hat is inheritance? Explain its types.
BCA(I-9/24 3 P.T.O.
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7. What is meant by catching all the exception in C++? Explain

with example.
Mritc a program (o find Fibonacci Series.

9. Write short notes on any two of the following:
(i) Recursion
(i) Structure & Union
(iii) Operator Overloading
(iv) Multi-level Inheritance
(v) Pointer

(vi) Pure Virtual Function
% ok %k

BCA(ID)-9/24 4
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Examination : 2024 Subject Code : BCA(I-10/24
Session :2022-25 Paper ' X
Time : 3 hrs. Full Marks — : 80

Candidates are required to give their answers in thei r
own words as far as practicable.
The figures in the margin indicate full marks,

Answer from all groups as directed.

Group-A
(Objective Type Questions)
(Compulsory)
1. Choose the correct answer of the foliowing: 2x10=20
) R is an important factor of management information
system
(i) System
i) Process
_/fﬁl)/I-)aH
@) All
(b) InaDFT external entities are represented by a
Rectangle

(1) Ellipse
(i) Diamond

. () Circle
(¢) Thedataflow diagramn is the basic component of ...... system
1) Conceptual
P.T.O.
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@ Anlvss
= \m:‘r&m“
@D ‘E\&\Wx and documentation
w Problem Analvsis isdone during
@ System Design Phase
(@} -Avstem Analvsis Phase
" (@) Before System test
{) None
{0} Adecsionble facilitates condition to be related to
Q' Acton
B e
(@ Table
\v) Operaton
(¢} Enhancements, upgrades and bug fixes are done during the
O”’\ fantenance and Fvaluation
D Problem Identification
(@) Design & Documentation
{Iv) None
BCA(ID-1024
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(h) Which of the model is used for system components?
1) ~PERT Chart
(i) Gantt Chart
@) Organizational Hierarchy Chart
(iv) DFD |
() Changes made periodically to a system, after its

implementation is known as System

() Coding and Testing are doneina
() -op-Dowh Manner
(i) Bottom Up Manner
(i) AdHoc Manner

1 roSssS Sectional Manner
. Group-B

Long-answer Type Questions
Answer any four questions of the following:  15x4=60
2. Whatdo youmean by the term System? Explain its characteristics.

3/ Discuss the various types of testing in detail.

4/Discuss the utility of Decision Table and Structure Chart.
5. Whatis System Development Life Cycle? Explain briefly.
6/ Describe the role émd task of system Analyst.

BCA(II)-10/24 3 P.T.O.
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7. Discuss the concept of MIS and DSS. How are they related?

How do they differ?
" Discuss Top-Down Approach of System Planning.
9. What considerations are involved in Feasibility Analysis? Which

consideration is important and why?

¥ %%
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Examination : 2024 Subject Code : BCA(II)-11/24
Session :2022-25 Paper : X1
Time : 3 hrs. FullMarks :80

Candidates are required to give their answers in their
own words as far as practicable.
The figures in the margin indicate full marks.
Answer from all groups as directed.
. Group-A
(Objective Type Questions)
' (Compulsory)
1. Choose the correct answer of the following: i\x 10=20
' (@) Stackisa................. Data Structure |
@ FIFO |
gyLIFO
(i) Both (i) & (ii)
(iv) None of them |
(b) Graphisa Data Structure?
(i) Linear
@/Non-linear
(i) Both (i) & (ii)

(iv)@done of them

(c) The process of deleting an element from a Stack is called
@ PUSH
P.T.O.
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/(ii)/POP

(iii) Evaluate
(iv) Create
(d) Which data structure is used fcr implementing
- recursion?
(1) _Atack
(i) Queue
(iif) Array
(iv) List
(e) Which data structure is needed to convert infix notation to
postfix notation?
p/Stack
(i) Queue
(i) List
@iv) Tree
(f) Which type of Linked List has two link fields?
(1) Single Linked List
(‘il)/Doubly Linked List
() Circular Linked List
(iv) All ofthese

(2) Which one is based on Divide and Conquer approach?

() Linear Search
kﬁi)/{:? Search
(iii) Selection Sort
. (iv) Insertion Sort

BCA(ID)-11/24 2
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(h) What is the value of the postfix expression 63 2 1 +-*?
@ 10
(iv) 2 |
() Inorder, Preorder and Postorder traversal techniques are
used in
(i) Aree
@) Graph
(iif) Array
(iv) Stack
() Worst Case Time Complexity of Quick Sortis
O(n?)
@ Oog) | .
(iii) O(nlogn)
(iv) O(2")
Group-B
Long-Answer Type Questions
Answer any four questions of the following: 15 x4=060
2 tis an algorithm? Write some characteristics of an algorithm.
Why do we need to do an algorithm analysis?
3//What s Stack? Write an algorithm for PUSH () and POP ()
operations on Stack.
4. Differentiate between Single Linked List and Double Linked

List. Write an algorithm to inserta node in a single linked list at

the end.

BCA(ID)-11/24 3 P.T.O.
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i

What is Binary Search Tree? Write an algorithm for Inorder

and Preorder Traversal on Binary Tree.

6. What do youmean by Searching? Write an algorithm for Binary
Search with its time complexity.

Whm is Quick Sort? Write an algorithm of Quick Sort with its
time complexity.

8,/ Write short notes on any three of the following;

(@) Static Data Structure

(b) Complete Binary Tree

(e) Time Complexity
9/ Queue

* %k

BCA(ID)-11/24 4

C} Scanned with OKEN Scanner



R T |

COPYRIGHT RESERVED

Examination : 2024 Subject Code : BCA(I)-15/24
Session :2022-25 Paper ' XV
Time 23 hrs. FullMarks ;80

Candidates are required to give their answers in their
own words as far as practicable.
The figures in the margin indicate full marks.

Answer from all groups as directed.

Group-A
(Ob jective Type Questions)
_ ; | .(Compulsory)

1. /Choose the correct answer of the f(;llowing: 2x10=20
%) Which of'the folldwing statement transfers control to the

labeled statement?

() Exit

(i) Continue

\ MOTO

(iv) None ofthe above
(b) Visual Basic is a tool that allows you to develop application
in
(i) Realtime
‘Q)/Graphical User Interface

(iii) Character User Interface

(iv) None of these
P.T.0.
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(¢) The Checked property is found only in which object?
(i) Textbox
(i) RadioButton
(i) CheckBox
Moth (ii) & (i)
(d) Which of the following extension is used to represent
the project file in Visual Basic?
\%bp
(ii) .vb
(iii) .cls
(iv) .vvb
(e) What does IDE stand for?
() Integrated Design Environment
Meglnted Development Environment
(i) Interior Design Environment
(iv) Interior Development Environment
® control executes the timer events at specified
intervals of time?
@) Clock

(1) Frgme
ﬁ'?%:ﬁ
(iv) Digital

(2) Whichofthe following is the default name assigned to the

label control in Visual Basic?

BCA(I)-15/24
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Mabel ] ‘

(i) DefaultLabel i
(ii) Label 0
(iv) NewLabel

(h) Frame Cotrol acts as a/an ?
(i) Event
(i) Method |
(i) Class

\gi)é’é)’ntainer‘ §
f

() Themethod, which loads the form into memory and displays

it on screen:
(i) Load | E
Mhow
(i) Display
(iv) Allofthese |

) do not return a value?

’Q/S{Ib procedure

(i) Function procedure

(i) Property procedures
(iv) Allof these
Group-B
Long-Answer Type Questions
Answer any four questions of the following:  15x4=60
2. What is data binding? Explain the different ways to use data
binding in VB.NET application.

BCA(II)-15/24 3 P.T.O.
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3. Explain properties, methods and events of Checkbox &

adioButton control.
4,/ What is an array? Write a program to Demonstrate Dynamic

Array.
}A)eset‘ibe the ADO.Net Architecture.
\6/ Explain the different loop statements in VB.NET with example.
7. Writea VB.NET program to accept a character from keyboard
and check whether it is vowel or not. Also display the case of
atcharacter. | |
\%:\Yite Short Notes an:
) A

TextBox

ib/ CheckBox
\(9/ essageBox
d)’ Command Buttons

~ (eyControl Structure
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